Step by step for Problems


Mole→Mole

C3H8  +  5O2  →  3CO2  +  4H2O



         10 mol


      ? mol

Mole→Mass







2Na  +  Cl2  →  2NaCl




    1.25 mol
       ? g

Mass→Mass




NH4NO3   →   N2O   +   2H2O




     25 g



   ? g

Limiting Reactant Problem





P4   +   5O2   →   P4O10




25g
        50g
         

?g

**all the steps of limiting reactant (1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (11) (12)
**You can stop at any point during this kind of problem, depending on what the question asks!!!!!!!!!
KEY

Mole→Mole

C3H8  +  5O2  →  3CO2  +  4H2O



         10 mol


      ? mol


10 mol C3H8    X    3 mol CO2   =   30.0 mol CO2

         1
     
       1 mol C3H8
** did step (3) and (4) from mole ratio problem section of help sheet
Mole→Mass



    (58.44)



2Na  +  Cl2  →  2NaCl




    1.25 mol
       ? g

1.25 mol Cl2   X   2 mol NaCl   =   2.50 mol NaCl   X   58.44  =  146 g NaCl

         1

      1 mol Cl2
**did step (1) and (3) and (4) and (5) from mole ratio problem section of help sheet
Mass→Mass




  (80.043)



(18.015)



NH4NO3   →   N2O   +   2H2O




     25 g



   ? g

      ___25___     = 0.312 mol NH4NO3
        80.043

.312 mol NH4NO3   X   ___2 mol H2O_  = 0.624 mol H2O X 18.015 = 11.2 g H2O


  1
              1 mol NH4NO3
**did all five steps (1) and (2) and (3) and (4) and (5) from mole ratio problem section

Limiting Reactant Problem




          (123.9)           (31.998)
       (283.886)





P4   +   5O2   →   P4O10




25g
        50g
         

?g

25/123.9=.202 mol P4
           .202 mol        1.56 mol
50/31.998=1.56 mol O2                 limiting           excess


         A      B

1.56 mol O2 = 
     7.73>5
5 mol O2
.202 mol P4
 O2 is excess
1 mol P4
.202 mol P4  X  1 mol P4O10 = .202 mol P4O10 X 283.886=57.3 g P4O10
        1
              1 mol P4 

.202 mol P4O10  X __5 mol O2_ = 1.01 mol O2 used  X  31.998 = 32.3 g O2 used
1 1mol P4O10
**all the steps of limiting reactant (1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (11) (12)
**You can stop at any point during this kind of problem, depending on what the question asks!!!!!!!!!

To what is left over or trash just subtract what you used from what you had to begin with:





1.56-1.01=.55 mol O2 trashed





50-32.3=17.7 g O2 trashed








